CS614 Assignment Solution


MASTER TABLE

	Order_ID
	Order_Date

	100
	2-Feb-2019

	201
	2-Feb-2019

	300
	4-Feb-2019

	….
	…




Order details Table

	Detail_ID
	Order_ID
	Product_ID
	Product_Quantity
	Sale_Amount

	100
	100
	2
	1
	100

	101
	100
	3
	2
	200

	200
	201
	5
	1
	50

	201
	100
	7
	1
	90

	300
	300
	15
	1
	600

	301
	300
	56
	1
	800

	302
	300
	57
	1
	850

	….
	…
	…
	….
	…



DENORMALIZED Table 

1)    DE normalization using pre-joining

In pre-joining all columns are moved from the master table into the detail table



	Detail table
	Order_id
	Order_date
	Product_id
	Prod Quality
	Sale_Amount

	 100
	100
	2-Feb-2019
	2
	1
	100

	101
	100
	2-Feb-2019
	3
	2
	200

	200
	201
	2-Feb-2019
	5
	1
	50

	201
	100
	2-Feb-2019
	7
	1
	90

	300
	300
	4-Feb-2019
	15
	1
	600

	301
	300
	4-Feb-2019
	56
	1
	800

	302
	300
	4-Feb-2019
	57
	1
	850

	…
	…
	…
	…
	…
	….






2) Calculate the total space used with normalization

SOL:


Total space with normalization
= (H.S of master table * records in master table) + (H.S of detail table * records in detail table)
= (30 * 10) + (60 * 120)
= 300 + 7200
= 7.5 GB

· Calculate the total space used after de-normalization
Total space after de-normalization
= (H.S of detail table + H.S of master table – common join path (orde_id)) * (records in detail table)
= (60 + 30 - 10) * 120
= 80 * 120
=9600
9.6 GB

Important For You – Bookmark This Page http://bit.ly/vucodes  (Vu Study Groups By Subject Codes Wise) in Your Browser for easy access In Future.
 By https://vustudents.ning.com/

Site Overview | Assignment Solutions | Past Papers |Site Features

 
